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QUESTION 1

What is the valid range assigned to a client during a TCP connection?
A.20-25

B. 443 - 1000

C. 1023 - 2024

D. 40000 - 65535

Correct Answer: D

QUESTION 2

Router A is directly connected to Router B over an Ethernet link. The local interface address for the Router A Fo0/48
interface is 144.254.32.2/24. Which routing table entry is visible on Router A?

A. 144.254.0.0/16
B. 144.254.0.0/24
C. 144.254.32.0/24
D. 144.254.32.2/24

Correct Answer: C

QUESTION 3

Which message is sent by a router when TTL expires?
A. Echo request

B. Time exceeded

C. Destination unreachable

D. Echo reply

Correct Answer: B

QUESTION 4
Which flags are used in the TCP header to initiate and end TCP connections or sessions?

A. Initiate = Acknowledge (ACK) End = Synchronize (SYN)
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B. Initiate = Acknowledge (ACK) End = Finish (FIN)
C. Initiate = Synchronize (SYN) End = Finish (FIN)
D. Initiate = Finish (FIN) End = Synchronize (SYN)

Correct Answer: C

QUESTION 5

On which OSI layers do standard ACL filters operate?
A.2and 3

B.2and7

C.3and4

D.4and 7

Correct Answer: C
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